14 Statistics
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Facts or figures,collected with a definite purpose
,are called data.
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There are two types of data :

i.Primary data
ii.Secondary data
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Class size is the difference between any two
successive class marks.
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Upper limit + Lower limit

Class mark of a class =
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L Class size
Lower class limit = Class mark - —
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Upper class limit = Class mark +M
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Data can be presented graphically in the form of
bar graphs,histograms and frequency polygon.
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Mean is calculated as the sum of all observations
divided by the total number of observations.
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Median: It is the value of the middle most observations.

If n is odd number,the median

=value of the( n sz 1 >th observation.

If n is even number,median
= Mean of the values of the % th and

(% +1 >th observation.
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Mode: The mode is the most frequently occurring
observation.

Multipule Choice Question
( sgfampedia vz )
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Which is primary data?

a. The data collected for a particular purpose
from a journal.

b. The data collected by the Election office to
be used in office.

c. The data collected from the Election office
for a particular purpose.

d. The data collected from a bulletin.

e faeg ||| @Y IReRar 8—

a. 1 b. 2

c. 3 d. 4

The frequency of the tally marks |||| is:-
a. 1 b. 2

c. 3 d. 4
e faeg || &Y IReRar 28—

a. 3 b. 4

c. 5 d. 6

The frequency of the tally marks ||| is:-
a. 3 b. 4
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C 5 d 6 a. 50 b. 100

frm fag A W IReRar 2 c. 120 d 20

a. 4 b. 5 10. @ IARTA 50—100 B HUA AT F:—

c. 6 d. 10 a. 50 b. 100

The frequency of the tally mark M is:- C. 25 d. 45

a. 4 b. 5 Upper limit of class interval 50-100 is:-

c. 6 d. 10 a. 50 b. 100

INERAT 8 &1 e foeg 2 ¢ 2 . 4

a. | b. || 11. 9 3faxTer 30—40 &1 for Har 2

c. Il d. LI a. 30 b. 40

Tally mark of frequency 8 is:- c. 35 d 70

a. | b. Il Lower limit of class interval 30-40 is:-

c. Il d W a. 30 b. 40

fr=ifafaa siesl § 7 ) IRERAT 28— c. 35 .70

34571727137 12. @ Jaxred 0—50 B e <r 8-

R b 4 a0 b. 40

e 3 P c. 35 d 50
Lower limit of class interval 0-50 is:-

Frequency of 7 in the following data is:-

a. 0 b. 40
3,4,5,72,1,7,2,7,1,3,7 ) ) e i 50
a. :
c. 3 d 5 13. 9 3faARTAT 130—150 &I a9 fag &
frfaRaa sidst & 1 @ IRIRaAr 2:— i iig 3 }ig
1,1,0,0,2,7,3,1,0,4 The class mark of the class 130-150 is:-
a3 b. 4 a. 130 b. 135
c. 2 d. 5 c. 140 d 145
fzegze;cy;f 21: the following data is:- - o531 BT af 5
b e e} ’7’ bl a' 26 b' 27
N ; 3' 2’ c. 28 d 29
¢ . N - ) The class mark of the class 25-31 is:-
fr=faRaa sridst 4 2 @1 g9l qRARGAT a 26 b 27
T 87 c. 28 d 29
Fper || 2 3 4 15. @ aRTel 100120 &1 a7 frg {:—
gReRar |3 2 5 3 a. 105 b. 110
a 3 b ) c. 115 d. 120
c‘ 5 d. 4 The class mark of the class 100-120 is:-
What is the cumulative frequency of 2 in a 105 b. 110
following data? c. 115 d. 120
data 1 B 3 4 16. 9 3axTal 90—120 &I 99 fas 8:—
frequency 3 2 5 3 a. 90 b. 105
a. 3 b. > c. 115 d. 120
c. 5 d. 4 The class mark of the class 90-120 is :-
. a. 90 b. 105
CRll 31?;;1?[ 100—120 BT ?T\PI 111?)1;1 - © 1S < 10
a. , o _
c. 120 d 20 17. JATdsl & 3AfHaH R JATH A1 B 3JaR
Bl HEd B—

Upper limit of class interval 100-120 is:-
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a. gREYN b. IATH AT highest value is 212,then its range is:-
c. Tif frg d. FIECINGI! a. 226 b. 113
Difference between the highest and lowest ¢ 208 d. 200
values of data is known as:- 24. @ IfARTA 10—30 BT I HIT B:—
a. range b. lower limit a. 10 b. 30
c. class mark d. frequency c. 20 d. 25
18. afy aREx 38 & @ik —gAa% @19 82 ?, at Class size of class interval 10-30 is:-
Jferpas A B:— a. 10 b. 30
a. 60 b. 76 c. 20 d. 25
c. 120 d 82 25. g 3fARTel 50—70 HT 47 AU B:—
If the range is 38 and the minimum value is 82, a. 100 b. 50
then maximum value is:- c. 20 d. 70
a. 60 b. 76 Class size of class interval 50-70 is:-
C. 120 d. 82 a. 100 b. 50
19. 3ridpsl &I UREX 83— c. 20 d 70
53,36,95,73,60,42,25,78,75,62 26. @ 3fawrd 100-150 BT T AW B
a. 25 b. 95 a. 100 b. 250
C. 60 d 70 c. 50 d. 25
Range of the data is:- Class size of class interval 100-150 is:-
53,36,95,73,60,42,25,78,75,62 a. ;80 z- 320
a. 25 b. 95 o '
c. 60 d 70 27. 9 IJARTA 1000—1500 T a3 HIY B:—
20. 3Tdbs! 11,32,51,49,49,6,14 Bl IREX - a. 1000 b. 1500
a 6 b 45 c. 250 d. 500
C' 49 d. 51 Class size of class interval 1000-1500 is:-
Range of the data 11,32,51,49,49,6,14 is :- a. 1000 b. 1500
a 6 b 45 c. 250 d. 500
c. 49 d 5l 28. fedl aif &1 a9 fag 65 2 3R @ ww 3
21. 3IHsl 0,5,9,3,12,15,6,7,.8 BT URE B:— 8, @ siarer 2
a 12 b 15 a. 5-8 b. 6.5-9.5
c. 65 d. 9 C. 3.5-6.5 d. 37‘1"}[ Kl ?bﬁ’sf Tal
Range of the data 0,5,9,3,12,15,6,7,8 is:- Class mark of particular class is 6.5 and class
997 9% 9 b M
a 12 b 15 size is 3,then class interval is:-
. 65 49 a. 58 b. 6595
SN TR C. 3.5-6.5 d. none of these
22. JiTdsl 115, 118, 126, 132, 159, 150 bl
Y 29. fedl v &1 o fag 105 2 AR o w@w
o 44 b 40 7 2, A 99 Jfavral B—
e 4 4 45 a.  10.5-17.5 b.  3.5-10.5
Range of the data 115, 118, 126, 132, 159, 150 is:- ¢ 775 o4 Tle
a 44 b 40 Class mark of a particular class is 10.5 and
c- 4 d. 45 class size is 7,then class interval is:-
. ' a.  10.5-17.5 b.  3.5-10.5
23. AfE JTbs T Yaq 41 4 © 3R AR c. 75 4 7-14
A 212 €, Al g9l URAR ©
0 26 b 113 30. fodl aif &1 a7 fag 47 2 3k @ wiu 5 2@,
c. 208 d. 200 al ﬁg’ﬁ et %:_b 44
If the lowest value of the data is 4 and th a :
e lowest value of the data is 4 an e . 445 4 45.5
FETT-9 (IT0Te) (173)




Class mark of a particular class is 47 and class
size is 5 then the lower limit of the class is:-

c. 9D d. T A P8 T8

The ratio of sum of observations and the total

a. 45 b. 44 number of observations is called:-
c 4.5 d. 45.5 a. mean b. median
31. UP IRARATl ded A, Uab a9 &I 787 fdg 20 c.  mode d.  none of these
%ﬁ%_ﬁaﬁﬁgﬁsg'mﬁﬁﬁ” 36. fpefl Siw @ fag goa A ¢ e @
< 1'_ N HUE B HIT ol 2
a. 5 .
c. 10 d 20 a. e b D
In a frequency distribution ,the mid value of a ¢ &¢ . . d‘. DS
class is 20 and the width of the class is 8,then The coll.ectlon of information,collected for a
the lower limit of the class is:- purpose is called:-
a. 15 b. 16 a. mean b. median
C. 10 d 20 c.  mode d.  data
32. o SfaRTel 10-20,20—30 ¥ GeAT 20 Witaferg 37 FAMNPA IRARAT Fe @ forg wmen o1 = 8
S __ Yfixi b __ >fi
a. 10-20 oot A © 7 i
b. 20-30 c. x = Yfixi d. None of these
. S} 3Tl Formula for mean of ungrouped frequency
d =T DS A TE distribution is:-
' _ fixi - fi
In the class intervals 10-20,20-30, the number a. X = Zzﬁ b. X = Zzﬁxi
20 is included in:- - .
. 10-20 c. x = Yfixi d. None of these
b 20230 38.  2,34,5,0,1,3,3,4,3 $T HIET B:—
c. both the intervals a. 2 b. 2.2
d. none of these intervals c. 24 d. 2.8
33, gNYRAT ded A ua wad i ¥ @ ude The mean of the data 2,3,4,5,0,1,3,3,4,3 is:-
aif ) =lerg 5 € s Freaw of @) fe= a2 b 22
AT 10 2 | Seaaw 9 B HU @ A - c. 24 d 28
a. 15 b. 25 39. UM U UTHd GEAT &I AT B:—
c. 35 d. 40 a. 3 b. 4
The width of each of five continuous classes in c. 5 d. 6
a frequency distribution is 5 and the lower class The mean of first 5 natural numbers is:-
limit of the lowest class is 10.The upper class a. 3 b. 4
limit of of the highest class is:- c. 5 d. 6
i‘ ;Z 2' 4218 40. afc 4,5 6, 7, 83AR x &1 wEg 7 2 Al x
. T _ BT 0 B
34. 3ATHs 1,11,2,2,5,6,3,7,3,3,3,6,9.3 # 3 I IRIRAT a4 b.
& c. 8 d 12
a. 3 b. 4
c. 5 d. 6 .
If the mean of 4,5,6,7,8 and x is 7 then value of
The frequency of 3 in the data 1, 11, 2, 2, 5, 6, 3, Xis:-
7,3,3,3,6,9,3 is:- a 4 b, 6
a. 2 z- 2 c. 8 d 12
c. .
_ _ _ 41. 20 3R 30 & 9 FHTSY HEATN BT AT B:—
35. BVl @& INT R UAUN DI G AT BT X 2l b, 26
U HEATT B:— . i o7
a. & b. D The mean of prime numbers between 20 and 30
HETT-9 (IO, 5
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is:-
a. 21 b.

c. 147 d. 144

48. 3Aidsi 17,2,7,27,15, 5, 14, 8, 10, 24, 48, 10, 8,
c. 25 d. 27 7,18, 28 BT Aledd Bi—
42. 24 & TUEES] BT A B a. 10 b. 24
10 b. 9 c. 12 d. 8
13 f7 The median of the data is:17, 2,7, 27, 15, 5, 14, 8,
c. o d. 3 10, 24, 48,10, 8, 7, 18, 28 is:-
The mean of the factors of 24 is:- a. 10 b. 24
% b. % c. 12 d 8
. 15 d 17 49. JTpsT # 98 W o 69 3 9R Imar @
: 2 ' 3 Bl HEd B—
43. ;1,;;[+é,f3,x+6 &7 qreg Afe 152 @ 6 x &I J—— b agew
3 0 4 c. HEISD d. uR®R
2: 5 d: 6 The value which appears very frequently in a
If the mean of the data x,x+1,x+3,x+6 is data is called:-
15/2,then the value of x is:- a. meap b. mode
A 3 b 4 c. median d. range
c. 5 d 6 50. fr=fafeaa siiwst &1 agas 2:—
44. 10 AT ST A 55 2 | AR TP GE&AT B 15,14,19,20,14,15,16,14,15,18,14,19,15,17,15
&eT foar e at weg 50 @) oidT 2| gl a. 15 b. 14
a. 60 b. 70 Mode of the following data is:-
c. 30 d. 100 15,14,19,20,14,15,16,14,15,18,14,19,15,17,15
The mean of 10 numbers is 55.If one number is a. 15 b. 14
excluded,their mean becomes 50,the excluded C. 5 d. 20
number is:- 51. QU U Sidbsl &1 9P o
a. 60 b. 70 4,6,5,9,3,2,7,7,6,5,4,9,10,10,3,4,7,6,9,9
c. 80 d. 100 a. 7 b. 9
45. 10,7,13,20 3R 15 HT e d— c. 10 d 6
a. 10 b. 13 The mode of the given data is:-
c 15 d. 20 4,6,5,9,3,2,7,76,5,4,9,10,10,3,4,7,6,9,9
The mean of 10,7,13,20 and 15 is:- a. 7 b. 9
a 10 b 13 c. 10 d. 6
c. 15 d 20 52. fay gy Iiwsl &1 9gad 2:—
46. TPl 4,6,8,9,11 BT AEAD B:— 1,1,1,2,2,3,7.8,1,2,2,3,2
a. 6 b. 8 & ; 1’1‘ 5
c. 9 d 11 ¢ , -
The median of the data: 4,6,8,9,11 is:- ;l:l;fl:g:)z(j;,g’fst,lll,ez,g;:,; 121 data is:-
a. 6 b. 8 a ! b. P
c. 9 d. 11 c. 3 d. 7
47. MBSl 155,160, 145,149, 150,147,152, 144,148 53 feg 8Y Aipsl DI CRCED -
BT IS o— 2,3,4,3,5,3,1,2,3,2
a. 149 b. 150 a. 2 b. 3
c. 147 d. 144 c. 1 d. 4
The median of the data is:155,160,145,149,150, The mode of the given data is:-
147,152,144,148 is;- 2,3,4,3,5,3,1,2,3,2
a. 149 b. 150 a. 2 b. 3
FaT-9 (1) (175)
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c. 1 d. 4

Afbs 17,15,16,17,16,15,11,12,16 H 17 &I
IRERAT 2:—

a. 1 b. 2

c. 3 d. 4
Thefrequencyof17in17,15,16,17,16,15,11,12,16
1S:-

a. 1 b. 2

c. 3 d. 4

Very Short Question Answer

( arfarerg, SO UeA )

IRERAT §e b1 a1 2% 47, 52, 57, 62, 67, 72,
77, 82 €, A1 & AT SR i AN S DI |

Class marks of frequency distribution are 47, 52
57,62, 67,72, 77, 82 then find class size and class
limits.

10, 12, 16, 20, p 3R 26 BT JABIOCIT A 17
g1 p BT A9 ST BN |

The arithmetic mean of 10, 12, 16, 20, p and 26 is
17.Find the value of p.

I 31—35 3R 36 —40 I Fdd I JdA”Td H
oty |

For class 31-35 and 36-40 write in a continuous
class interval.

ferferfRaa s RIS %9 § forw v € afe
39 Apel BT HEID 63 ©, Al x Bl A 1A
BT — 29, 32,48, 50, x, x+2, 72, 78, 84, 95

Following data are arranged in ascending order. If
the median of the data is 63, then find the value of
x:- 29, 32, 48, 50, x, x+2, 72, 78, 84, 95

FeTT [X & 9 faenfial @1 Sarg (em #) &
155, 160, 145, 149, 150, 147, 152, 144, 148

39 ISl BT HETD ST DY |

Height(in cm ) of 9 students of class IX are

155, 160, 145, 149, 150, 147, 152, 144, 148

Find the median of the above data.

e Uig QUi AR18I BT AR =1 DI |
Find the mean of the first five whole numbers.

10 3ffHS! &7 AT 20 B | Y 3ffdsi &7 AT S
DITTY |

The mean of 10 observations is 20. Find the sum
of all observations.

g Pl BT HAETD A BIOIT:
26,56,32,33,60,17,34,29 45 | (S 26 BT 62 I I

faar U a1 T3 "ege S BT |

Find the median of data :26 56,32,33,60,17,34,29
and 45. If 26 is replaced by 62, find the new
median.

FR=TfeTRET afidhs STRIET ¥ H AU 1T & | Af
S TSl P AP 235 7, Al x Pl A A
PITT— 12, 16, 17, 19, x, x+3, 27, 37, 38, 40
The following observations have been arranged in
ascending order. If median of the data is 23.5, find
the value of x. 12,16,17,19,x,x+3,27,37,38,40

3,4,6,7,8,14 I AT A HINTT | IS TAD Tihs!
# uig Sire fear SIg ar J37 ARy 1 g
Find the mean of 3,4 6,7,8,14. If 5 is added to each
observation, what will be the new mean.

Short Question Answer
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A,B,0,0,AB,0,A,0,B,A,0,B,A,0,0,A,AB.0,A,
A,0,0,AB,B,A,0,B,A,B,0

39 JATHS! Bl GRART g AR & HY H T

BT | 5 BT

[ D19 AT XD I 3Nfd A
%WWWWWW%%?W%?

The blood groups of 30 students of a class 9 are
recorded as follows

A,B,0,0,AB,0,A,0,B,A,0,B,A,0,0,A,AB.O,A,
A,0,0,AB,B,A,0,B,A,B,0

Represent this data in the form of a frequency
distribution table.Which is the most common
and which is the rarest blood group among these
students?

T [ & QT & ERCIEEASRIIRES
oiféat grr el 1€ el @& aRom i Ry g €
worfe ot (A |B |C |D |E |F
S @E |75 (55 (37 [29 |10 |37

1. ¥HdeHd & R &1 fefid &R" a1dT Uh
TS 3Tl WY |
ii. foa orfae ardt 7 sfdread Wie Sy 87

Given below are the seats won by different
political parties in the following outcomes of state
assembly elections.

Political party A |B |C |[D |E |F
Seats won 75 |55 (3729 |10 |37

i. Draw a bar graph to represent the polling results.

1



ii. Which political party won the maximum
number of seats?

%g%w‘ﬁﬁmoﬁw”ﬂﬁq‘ra%ﬁﬁaﬂmﬁq
U &:

RIFGIEGI 3 9 17 12 9

Draw a frequency polygon curve to represent the
following data:

Sfiae &1t (8 #) SEICIISEE]
300-400 14
400-500 56
500-600 60
600-700 86
700-800 74
800-900 62
900-1000 48

i. U I o @ Ferar | & T8 gAAwRl Bl
frefid IR |
ii. fha= ofar & Sfa &1at 700 B¢ A A B |

The following table gives the life times of 400
neon lamps:

Life time(in hours) Number of lamps
300-400 14
400-500 56
500-600 60
600-700 86
700-800 74
800-900 62
900-1000 48

i. Represent the given information with the help of
histogram.

ii. How many lifes have a lifetime of more than
700 hours?

fa=forRad sridel & forv ve omarg fors Wifw |

0-10 |10-20 |20-30 |30-40 |40-50

IRINAT 3 9 17 12 9

Draw a histogram of the following data:

Marks

0-10 |10-20 |20-30 |30-40 |40-50

Frequency |3 9 17 12 9

IRIRAT g8Y5T g9V |

0-10 |10-20 |20-30 |30-40 |40-50

FaT-9 (I0d)
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Marks

0-10 |10-20 |20-30 |30-40 |40-50

Frequency |3 9 17 12 9

Long Question Answer

(& S8 g )

Uh UTh H W W8 A g 9t & gl dl
A& & U JiAH FIe0 e W =faRaa
3fhs U<l gU:

g (aut ) gl B G
1-2 5

2-3 3

3-5 6

5-7 12

7-10 9

10-15 10

15-17 4

IR feU snidsl &7 Awld &= a1l e 3mad
o= Eiferg |

A random survey of the number of children of
various age groups playing in a park was found as
follows:

Age (in years) Number of children
1-2 5

2-3 3

3-5 6

5-7 12

7-10 9

10-15 10

15-17 4

Draw a histogram to represent the above data.

A B &1 AR H 9T f$y T 3Pl & JTAR
& ARl & fdenfial o1 e faar war 2

T IRARAT TSIl B AeRIal A Udh 8 3ol
W IE ARAEN @ [l & uraiie FRaiud
PIFTY |

The following table gives the distribution of
students of two sections according to the marks
obtained by them:




SRIRAILS! 5

I AT = 9t foes + =4y

Section A Section B = 47 + 25 = 495
Marks | Frequency | Marks | Frequency
~10-0 0 ~10-0 0 it fore T i ST i
010 3 0-10 5 47 445 49.5
a 0 1020 0 52 49.5 54.5
10-20 57 54.5 59.5
20-30 17 |20-30 15 62 59.5 64.5
30— 40 12 30-40 10 67 64.5 69.5
40— 50 9 40-50 1 7 69.5 74.5
Represent the marks of the students of both 77 74.5 79.5
sections on the same graph by two frequency 82 79.5 84.5
polygons. Class size =52 -47=5
3. ﬁﬂ%ﬁj{;ﬁsi Kl cb'lw“l & HHATRAT BT 3fTd For Class mark 47
P ama | 490-510 | 510-530 | 530-550 | 550-570 | 570-590 | 590-610 Lower class limit = Class markfm
R #)
PRt 7 8 12 16 4 3 =47 — % =47-2.5=44.5
7 Class siz
From the following data, find the average daily Upper class limit = Class mark + %
income of the employees of the company 5
Daily income | 490-510 [ 510-530 [ 530-550 [ 550-570 [ 570-590 [ 590-610 =47+ 5 =47+2.5=495
S]nriz)e = Z 2 3 v 2 3 Class Mark | Lower Class limit Upper class limit
employees 47 445 49.5
52 495 54.5
Multipule Choice Question 57 34.5 59.5
( sgfapeda 9wl &1 SR ) 62 59.5 64.5
67 64.5 69.5
1.b 2d 3.a 4.b 5.d 6.b 7.a . 69 5 745
8¢c 9.c 10b  1l.a 12.a 13.¢c 1l4.c 77 745 795
15b 16.b 17a 18c¢ 19d 20b 21b 82 795 245
22.a 23.c 24c  25c¢ 26.c 27.d 28.a
204 30 3lb 32b 33c 34c 35a 2 ey 0TI2TI6FI0EP
36.d 37.a 38.d  39.a 40d 41b 42.c¢ :>177: 58+P
43c 44d  45b 46b 47a 48c  49b I >
50a 51b  52b  53b  54b =38P =173
=>P=85—-58=27 Ans.
Very Short Question Answer
( rfirereg gt @1 STY ) _10+12+16+20+P
Mean = 5
l. @ 519 = 52 — 47 = 5 Ans 17 _58+P
aif g 47 & fag 1 S
ﬁwqﬂm:aﬁﬁa_a‘qqzn_% = 58+P=17X5
2
47 — 25 = 445 =P =85—-58=27 Ans.
HETT-9 (IO, (53]
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31-35—>305-355 _(9+1>hV1 fob )
36— 40 — 35.5 - 40.5 ~\ g )th Value of observation
= 5th Val fob ti
29,32, 48, 50, x, x + 2, 72, 78, 84, 95 atuie oF obselvation
=149 Ans.
n =10 (w7) 6. v ufa wof W= 0, 1, 2, 3, 4 1
1 n_v n o
= (7 + (7 +
Mfeadt = 5 (5 df 7 + (57 +10) df #1) e — 0+1+§+3+4:%:2 Ans.
=63 = (5 df A1 + 6 df ) First five whole no is 0, 1, 2, 3, 4.
:63:7[X+X+2] .. Mean = O+1+§+3+4:%=2 Ans.
=63X2=2x+2
7. Y MBS BT ANT = ARG X AhSl B AT
= 126—2=2x
= 20 X 10 = 200 Ans.
=2x = 124
Sum of observations = mean x No. of observations
=124 _ 62 A
=X~ ns =20x10=200 Ans.
n =10 (Even) 8. OIRIEN P H AT W
. 17, 26, 29, 32, 33, 34, 45, 56, 60
Median = %[%th obs + (% + 1>th obs]
1 n =9 (fawH)
63 = T[Sth obs + 6th obs]
+1)\ ¢
qAegep = (n )aT q
= 63 = 1 [x +x+2] 2
+ A4
=63X2=2x+2 :(9271 HIH
= 126—2 =2x = 5 df 99
= 124 = 2x =33 Ans.
=X = 124 _ 62 Ans
2 26 P 62 F IE TR YT MhST 39 YHR B
_ 17,29, 32, 33, 34, 45, 56, 60, 62
JRIE HH H Il W) .
144, 145, 147, 148, 149, 150, 152, 155, 160 AT "D = <n > )E‘T HI
n =9 ([qyA) (9;1>fnm=r
nt1)\_=z -
Hwas:< 3 )E”‘T':f = 5 df 99
<9 > =34 Ans.
2
= 5 df A Arranging ascending order
= 149 Ans. 17, 26,29, 32, 33, 34, 45, 56, 60
Arranging in ascending order Median = ( n ;L I >th Value of observation
144, 145, 147, 148, 149, 150, 152, 155, 160 9+ 1 _
n=9 (odd) = (T)th Value of observation
Median = < n ;: 1 )th Value of observation = Sth Value of observation
=33 Ans.
$HETT-9 (ﬂiﬁla) (—\1 79




If 26 is replaced by 62, then the new data as:—
17,29, 32, 33, 34, 45, 56, 60, 62

New Median = <n-§ 1 )th Value of observation
= <%> th Value of observation
= 5th Value of observation
=34 Ans.
9. 12,16, 17,19, x,x+ 3,27, 37, 38, 40
n=10 (49)
_ 1l|n_« n o
HE D = 2[2E|T‘:I'I:T+<2+1>E|T‘:I'Ff]
235 =[%Eﬁ 1+ <120 +1)fﬁ m—rr}
=23.5%x2=(x+x+3)
=47=2x+3
=47—3=2x
= 44 = 2x
Lx=4 =2 Ans.
n=10 (even)
Median =
1|n n
j[jth value of obs + <5 + 1)th value of obs]
= 235~ L[&th value of obs T <£ + 1>th value of obs]
2] 2 2
=235X2= [Sth value of obs + 6th value of obs]
=47 =(x+x+3)
=47 =2x+3
=47—3=2x
= 44 = 2x
Sx =3t =2 Ans.
10, weg = 3+4+6+67+8+14
_ 42 _
=6 = 7 Ans
Udh U&TOT § 5 Gile R
T HIY =
F&T-9 (0ra)

(3+5)+(a+5)+(6+5)+(7+5)+(8+5)+(14+5)

6
_ 8+9+11+12+13+19
- 6
_ 72 _
=% =12 Ans
_3t+t4+6+7+8+14
Mean = 6
%27 Ans

Adding 5 to each observation, then
New mean =

(3+5)+(a+5)+(6+5)+(7+5)+(8+5)+(14+5)

6
_ 8+9+11+12+13+19
- 6
=%=12 Ans

Short Question Answer

(og 9=l &1 ITR)

2.1

I G | Bl &l wgr | e e
(Blood group) | No. of students | Tally mark
A 9 N
B 6 N
0 12 PN TN
AB 3 |

3Tafd faRerdd (Rarest blood = AB Group) Ans

X

Y
'S 804
2701 [7)
(qn“j 60+
= 50 V
£l 1
N
g5 /

A C D I? F

o aret (Political Pary)

Party —A  Ans
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Along horizontal: 1 big div = 100 units Y

1 Y
Along vertical: 1 big div = 10 units
21—
90 1 >
- — 2 18— (25,17)
72 T 3 ’
g B ] g 15—
s T R I (35.12)
Z el —
° T 1 ]
o 1
g 50 1 o
T 40 +
@ — 3 (5,3)
0T OQT - 3O30 s
& wl -5 0 20 30 40 50 60
‘:E T i forg/Class Mark
10 +
L X

300 400 500 600 700 800 900 1000
Sitaq wre(ee #)/Life time (in hours) Long Question Answer

( e geAl &1 SR )

184 Ans.
1.
N Along horizontal: 1 big div = 10 units (et 3fcRTer) | (STEIRA) CREIE)
21 + Aong Vertical: 1 big div =3 units Class interval frequency Class size
T oag L 12 5 1
‘é: 15 + 2-3 3 1
o 1+ 3-5 6 2
=2 5-7 12 2
o7 7-10 9 3
61 1015 10 5
3 15-17 4 2
0 10 20 30 40 50 x
37h/(Marks)
Y Scale: Along horizontal line: 1 big div =1 unit
- Aong horizontal line: 1 big div =1 unit
D SINESINGI] T e 6 -
(Marks) (Frequency) (Class Mark) =
~10-0 0 -5 2T 7
0-10 3 5 _°§ 4 4
1020 9 15 E
20 - 30 17 25 =0T
30-40 12 35 @ 5
40 - 50 9 45 iS5
- 1 —_
50— 60 0 55 E / \
| |
0 T s X
T SFARTA (Class interval)
HETT-9 (IIT0T) (181



Section — A Section - B

C.I. |frequency| Class Mark | C.I. |frequency| Class Mark
-10-0 0 =5 -10-0 0 =5
0-10 3 5 0-10 5 5
10-20 9 15 10-20 19 15
20-30 17 25 20-30 15 25
30-40 12 35 30-40 10 35
40-50 45 40-50 1 45
50 - 60 55 50 - 60 0 55

Y Scale: Along Horizontal line 1 big div = 5 units

dNHRl/Frequency

Along vertical line 1 big div = 2 units

,5Y : IIO : 2(=) : 3(=) ' 4(=) ' 5|r0 M 6%) X
T f8/Class Mark
Section — A
__________________ Section — B
3.
ot afaRrer| TN i fore Sixi
fi xi
490 - 510 7 500 3500
510 -530 8 520 4160
530 - 550 12 540 6480
550 -570 16 560 8960
570 — 590 4 580 2320
590 - 610 3 600 1800
>fi1=50 >fixi= 27220
e (3) = 2 fixi _ 27220 _ 5444 A
X Z fi 50 . ns
FaT-9 (o)

(182}

frequenc lass Mark ;
C.L C}i v | € asjd a Sfixi

490 - 510 7 500 3500
510530 8 520 4160
530 -550 12 540 6480
550 -570 16 560 8960
570 - 590 4 580 2320
590 -610 3 600 1800

2f1=50 Xf ixi= 27220
Mean (x)= 2, fixi

Do fi
(x)= 72752020 = 5444  Ans.






